test-3-notes.notebook April 10, 2020

Test 3 Discussion
Re-Done for WebAssign Testing

Some of the following is taken from live lecture. Some from asynchronous

video.
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#9

A tree grows at an angle of 5° from the vertical due to prevailing winds. At a point d = 41 meters from the base of the tree, the angle of
elevation to the top of the tree is a = 35° (see figure).
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(a) Write an equation that you can use to find the height h of the tree. . 30— 8¢ g¢°
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(b) Find the height h of the tree. (Round your answer to one decimal place.)
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